// *******************************************************************
// MathOperations3.java By: Aiman Hanna (C) 1993 - 2016
// This program illustrates more of Java math operations
//
// Key Points: 
// 
1) Assignment compatibility between different types
// 
2) Shorthand operators 
//
3) Type casting 
//
4) Escape characters (\)
//
5) New Line character (\n) 
// *******************************************************************
public class MathOperations3 {

public static void main(String[] args) {


int iVal1 = 10, iVal2 = 20;


double dVal1 = 2.5, dVal2 = 17.8;


System.out.println("The value of dVal1 is now: " +  dVal1);


System.out.println("The value of iVal1 is now: " +  iVal1 + "\n");


dVal1 += iVal1; 
// same as dVal1 = dVal1 + iVal1. Is that a legal assignment?


System.out.println("The value of dVal1 after being incremented by iVal1 is: " +  dVal1);


System.out.println("\nThe value of iVal2 is now: " +  iVal2);


System.out.println("The value of dVal2 is now: " +  dVal2);


// The following would be illegal - Type mismatch 


// iVal1 = dVal2;


// Using type casting  


iVal2 = (int)dVal2;


// Will this statement affect dVal2?


System.out.println("\nThe value of iVal2 after executing the statement \"iVal2 = (int)dVal2;\" is: " +  iVal2);


System.out.println("The value of dVal2 after executing the statement \"iVal1 = (int)dVal2;\" is: " +  dVal2);

}
}
/* The Output
The value of dVal1 is now: 2.5
The value of iVal1 is now: 10
The value of dVal1 after being incremented by iVal1 is: 12.5
The value of iVal2 is now: 20
The value of dVal2 is now: 17.8
The value of iVal2 after executing the statement "iVal2 = (int)dVal2;" is: 17
The value of dVal2 after executing the statement "iVal1 = (int)dVal2;" is: 17.8
*/ 
